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2 cmd3R2 7IEE

Private Sub cmdZ2& Click()
DoCmd.Close
End Sub

Private Sub cmd®{&_Click()
DoCmd.OpenForm “3|3t250121”
End Sub
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Private Sub cmdZ = _Click()
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DoCmd.Close
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Private Sub cmd®2_Click(
// cmdU=S SE6tH AE O[HIE T2AIX =y

—

AE2S geagi oME] Hod
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End Sub

// OMIE Z2ANX BE

1 (Gl2IS5) BuM -85

A 2AAzd U e
1 You're doing me a big favor, Kim.
2, HIZH2 SHIS YRS
Z  Thank you.
ZAlEC)
"3 We've got to thank him for it.
S U ) ARSI ZAKS SHUE SLICE

4 Thanks. I'll pay you back in one month.
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6 Please don't brood over such a trivial matter.
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Private Sub cmd@I4f|_Click()
DoCmd.OpenReport “SI3tE2", acViewPreview, |,
End Sub
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Private Sub cmd@I4fi_Click()
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